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Instructions to Candidates
This paper is in THREE (3) sections.

SECTION A:

Attempt ALL questions.


         [28 questions = 28 marks]

Answer ALL questions in Section A (nos. 1-28) on the Separate Multiple Choice Answer Sheet.  Use ‘2B’ PENCIL.  Do NOT use a ball pint or ink pen.

SECTION B:

Complete all THREE questions.

            [3 questions = 30 marks]

SECTION C:

Attempt any THREE questions.


[3 questions = 42 marks]

SECTION A
Multiple Choice questions, each worth 1 mark.

Answer ALL questions.

Record each answer for questions 1-28 by marking your choice of alternatives on the Separate Multiple Choice Answer sheet using a “2B” pencil.  Choose the alternative which most correctly answers the question or completes the statement.  The Separate Multiple Choice Answer Sheet contains complete instructions for recording your choices.

An error in recording your choice may be cancelled by erasing it.

Give only ONE answer to each of questions 1-28.

Marks are not deducted for wrong answers.

______________________________________________________________________________

1. Macroeconomics is the branch of economics which

a) Studies the determination of output and prices in individual markets.

b) Demonstrates how union power causes inflation.

c) Studies product and recource markets.

d) Studies the determination of output income and employment  in the economy as a whole.

2. Which of the following is not an automatic stabilizer

a) Unemployment benefits.

b) Pay as you earn taxes.

c) The investment multiplier.

d) Company tax.

3. If planned investment is less than planned savings

a) Business will experience an unintended reduction in inventories.

b) Stocks of finished goods will rise.

c) Actual savings will exceed actual investment.

d) The general level of economic activity will rise.

4. The term ‘inflationary gap’ refers to a situation whereby

a) Prices rise faster than wages once full employment is reached.

b) Aggregate demand is greater than aggregate supply at full employment.

c) The value of output is greater than the value of income at full employment.

d) The level of inflation is higher than that which was anticipated.

5.
The essential feature of a pure public good is

a) It is impossible for expensive to exclude non-payers from using the good.

b) It is provided by the government for everybody to use.

c) Almost everyone in the community uses the good.

d) It is essential to the proper functioning of the economy as a whole.

6.
The traditional Phillip’s curve

a) Shows an inverse relationship between changes in the CPI and the unemployment rate.

b) Is upward sloping from left to right.

c) Suggests that prices do not rise until full employment has been reached.

d) Demonstrates that an economy can achieve full employment and price stability.

7. The greater the marginal propensity to consume,

a) The smaller the multiplier.

b) The greater the marginal propensity to save.

c) The larger the total change in income derived from a given change in government spending.

d) The more consumption is expanded as the result of a decline in investment.

8. Which one of the following groups of economists would be most likely to oppose a law to make balanced budgets compulsory.

a) Monetarists.

b) Supply side restrictionists.

c) Keynesians.

d) Classical economists.

9. Of the following, which one is most likely to raise employment and income, without pushing up the rate of inflation?

a) A rise in government spending on public works.

b) Cuts in personal taxes to stimulate consumption.

c) Government spending on retraining and education programmes for the structurally unemployed.

d) Reduced interest rates brought about by an expanded money supply.

10. Which one of the following would be a credit item in Australia’s balance of payments?

a) Foreign Aid to Papua New Guinea

b) The repayment of some of Australia’s foreign debt.

c) Payment of interest on a foreign loan.

d) Spending by Japanese tourists in Australia.

11.
If the price of the Australian dollar rose from 86c US to 89c US then

a) The Australian American exchange rate has risen.

b) The $US has depreciated against the $AUST.

c) The $US has appreciated against the $AUST.

d) Australian products will be cheaper in America.

12.
Which item on Australia’s balance of payments has been most seriously in deficit in recent years?

a) The Capital account.

b) Net services

c) The balance of trade

d) Net income.

13. The terms of trade refers to

a) The volume of exports compared to the volume of imports.

b) The volume of exports required t purchase a given volume of imports.

c) The conditions under which trade is carried out.

d) Export earning minus import spending.

14. A country will gain from trade

a) By placing tariffs on cheap imported goods.

b) By importing goods from countries where the opportunity costs of production are lower.

c) Only when it subsidizes firms with export potential.

d) Only when export earnings are greater than import spending.

15. The two most important roles of net investment are that it

a) Increases both the capital stock and the productive capacity of the economy.

b) Adds to aggregate demand in buoyant conditions and reduces aggregate demand during a recession.

c) Replaces worn out and obsolete equipment and increases the capital stock.

d) Adds to both productive capacity and aggregate demand.

16. If an economy’s capacity to produce is growing faster than the economy’s total demand for goods and services, then

a) Unemployment of labour and other resources is increasing.

b) The economy is gaining the benefits of economic growth.

c) The economy is producing on its production possibility curve.

d) The economy must be moving from a position under its production possibility curve to a point on the curve.

17.
Economic growth in Australia would be encouraged by any moves which

a) Permit a faster consumption of goods and services.

b) Concentrate our natural resources in the areas which have always performed strongly.

c) Conserve our natural resources.

d) Promote mobility of resources from one area of economic activity to another.

18.
Economic growth

a) Must always be greater than the level of output.

b) Is best measured by  labour productivity multiplied by the size of the labour force.

c) Refers to the productive potential of existing factors of production.

d) Is best indicated by the rate of change in real GDP per capita.

19. Which of the following policies would be most likely to promote economic growth in an economy which is already operating at full employment.

a) Encouraging workers to take early retirement.

b) Increased subsidies to firms to stimulate output.

c) Incentives to households to save and for firms to expand their capital goods production.

d) Encouraging an increase in consumption expenditure.

20. Which of the following is least likely to encourage entrepreneurs to take the risks necessary for innovation?

a) An efficient financial system.

b) The existence of a large stock of social overhead capital.

c) A stable government.

d) A progressive income tax system.

21. The Japanese government, during the late 1980’s was concerned about the high exchange value of the Yen.  This concern probably arose because.

a) It reflected a deterioration in Japan’s balance of payments.

b) A high exchange value of the Yen would make Japanese goods more expensive abroad.

c) A high exchange value of the Yen would cause the price of imported goods to rise, thereby fuelling inflation.

d) It would force the Japanese government to borrow abroad.

22. Which of the following nations was the most important market for Australian exports  during the 1980’s.

a) The USA.

b) Great Britain.

c) Japan

d) New Zealand.

23. Assume that flexible exchange rates operate between Australia and the USA.  Which of the following would be most likely to cause a depreciation of the $A.

a) The USA buys wool from New Zealand instead of Australia.

b) Companies in the USA buy factories in Australia.

c) More American tourists visit Australia.

d) Currency speculators anticipate a fall in the exchange value of the $US compared to all other currencies.

24. If interest rates in Australia are higher than those overseas foreign capital should flow into Australia.  The effect of this inflow would be to

a) Cause an appreciation of the $A which could worsen the balance on goods and services.

b) Cause a depreciation of the $A which would improve the CAD by stimulating exports.

c) Place downward pressure on the $A until investment in Australia became less attractive.

d) Cause an appreciation of the $A which would improve the balance on goods and services.

25. A policy to restrict foreign investment in Australia would

a) Hamper the development of mineral resources.

b) Increase the chances of balance of payments problems.

c) Slow down the development of some export industries.

d) All of the above.

26. Money may be withdrawn from the circular flow by all but one of the following:

a) Tight monetary policy

b) A reduction in foreign investment

c) A federal government budget deficit

d) A federal government budget surplus.

27. Use the table below, showing production possibilities of Trinidad and Tobago in cement and fruit, to answer the following questions.

TRINIDAD




TOBAGO



Cement
Fruit



Cement
Fruit



     0

   8



     0

   5



     3

   6



     2

   4



     6

   4



     4

   3



     9

   2



     6

   2



   12

   0



   10

   0


Which of the following is true?

a) Trinidad has the comparative advantage in the production of cement and fruit since it can produce more of both goods.

b) Tobago has nothing to gain from trade since it cannot compete with Trinidad’s greater capacity.

c) Tobago should specialize in cement production and buy fruit from Trinidad.

d) Trinidad has the comparative advantage in cement production because it can produce more cement than fruit.

28. In a period of economic downturn the fluctuations in the business cycle are dampened automatically because

a) Tax revenue falls and unemployment benefits fall.

b) Tax revenue rises and unemployment benefits fall.

c) Tax revenue rises and unemployment benefits rise.

d) Tax revenue falls and unemployment benefits rise.

SECTION B:


Data Interpretation.  (30 Marks)

ALL questions for this section are in the Answer booklet.

______________________________________________________________________________

29.


	PREDICTED RETURNS TO MICROECONOMIC REFORM IN AUSTRALIA:  1995 TO 2001

	
	Without reform
	With reform

	Gross Domestic Product (a)
	3.0
	4.8

	Unemployment rate (b)
	8.1
	5.3

	Consumer price index (a)
	3.5
	1.9

	(a) average annual growth rate (%)

(b) average level (%)
	
	



See questions in Answer Booklet.

30.
The following chart is based on data supplied by the Reserve Bank of Australia. 


See questions in Answer Booklet.

31.


	JOB DOLDRUMS: 20 000 GIVE UP
By economics correspondent IAN HENDERSON

11 July 1997

Poor job prospects forced more than 20 000 to give up the search for work in June and overshadowed a drop in the unemployment rate from 8.8 to 8.5 per cent.  After 40 300 jobs were lost in May, employment grew by 11 900 and unemployment fell by 32 000 last month. But the fall in the jobless rate was entirely the result of the shrinking labour force – the total number in work and looking for work – which has fallen by 60 000 from its peak in February.  The surprisingly small rise in jobs last month fanned market speculation of a fifth cut in official interest rates and pushed the dollar down to a fresh 18 month low of US 74.1 cents.  The figures are bound to cause concern for the Federal Government, with jobs growth for 1996 – 97 falling short of the modest 1.25 per cent forecast in the Budget just two months ago.  This is likely to give rise to concerns about employment and economic growth.

Source:  The Australian Newspaper



See Answer Booklet for questions.

SECTION C
Essays

(42 Marks)

Choose any  three essays to complete 

______________________________________________________________________________

32
a)
Use a diagram to illustrate how a tariff raises revenue for the government and

 protects domestic producers.





 [7 Marks]

b) Describe the impact  of overseas protectionism on the Australian economy.

[7 Marks]

33.
a)
Explain the nature and causes of structural and cyclical unemployment.

[3 Marks]

b) What are the economic consequences of a high rate of unemployment.

[4 Marks]

c) Discuss the policies which might be appropriate to reduce each of the types of unemployment described in a).

[7 Marks]

34.
a)
Distinguish between foreign debt and national debt.

[2 Marks]

b) Discuss the problems associated with a high level of foreign debt which make it the target of economic policy.

[7 Marks]

c)
Briefly outline the role of microeconomic reform in combating foreign debt.

[5 Marks}

35.
a)
Distinguish between monetary and fiscal policy.

[3 Marks]

b) Describe some of the factors which can influence the volume of money in the Australian economy.

[4 Marks]

c) Explain the reasons for and possible consequences of, a ‘tight’ monetary policy.

[7 Marks]

36. Study the table below and answer the questions which follow.  (Assume the economy is a 

modern, industrialized, modified-market economy).

Country X – Economic Indicators


(Base Year 1985)

1989-90       1990-91     1991-92

GDP $bn




  122.3
          128.0
     134.7


CPI





  105.3           108.8
     111.5


Unemployment Rate %


      2.2

  2.1
         2.1


Current  Account



   +1.7

+1.4
       +2.8


(% of GDP)

a) Analyse the major features of the economic situation of this economy by 1992.

[6 Marks]

b) Discuss appropriate government policy to be implemented in 1993.

[8 Marks]
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ANSWER SHEET FOR QUESTIONS 1 TO 28

	Question

Number
	Answer
	
	Question

Number
	Answer

	
	
	
	
	
	
	
	
	
	
	

	1
	A
	B
	C
	D
	
	15
	A
	B
	C
	D

	
	
	
	
	
	
	
	
	
	
	

	2
	A
	B
	C
	D
	
	16
	A
	B
	C
	D

	
	
	
	
	
	
	
	
	
	
	

	3
	A
	B
	C
	D
	
	17
	A
	B
	C
	D

	
	
	
	
	
	
	
	
	
	
	

	4
	A
	B
	C
	D
	
	18
	A
	B
	C
	D

	
	
	
	
	
	
	
	
	
	
	

	5
	A
	B
	C
	D
	
	19
	A
	B
	C
	D

	
	
	
	
	
	
	
	
	
	
	

	6
	A
	B
	C
	D
	
	20
	A
	B
	C
	D

	
	
	
	
	
	
	
	
	
	
	

	7
	A
	B
	C
	D
	
	21
	A
	B
	C
	D

	
	
	
	
	
	
	
	
	
	
	

	8
	A
	B
	C
	D
	
	22
	A
	B
	C
	D

	
	
	
	
	
	
	
	
	
	
	

	9
	A
	B
	C
	D
	
	23
	A
	B
	C
	D

	
	
	
	
	
	
	
	
	
	
	

	10
	A
	B
	C
	D
	
	24
	A
	B
	C
	D

	
	
	
	
	
	
	
	
	
	
	

	11
	A
	B
	C
	D
	
	25
	A
	B
	C
	D

	
	
	
	
	
	
	
	
	
	
	

	12
	A
	B
	C
	D
	
	26
	A
	B
	C
	D

	
	
	
	
	
	
	
	
	
	
	

	13
	A
	B
	C
	D
	
	27
	A
	B
	C
	D

	
	
	
	
	
	
	
	
	
	
	

	14
	A
	B
	C
	D
	
	28
	A
	B
	C
	D


SECTION B
Data Interpretation 

(30 Marks)

Question 29
a)
Define the term “microeconomic reform”



   2 marks



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



b)
List three examples of recent microeconomic reform in Australia.      3 marks



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________

c)
Referring to the table, explain why microeconomic reform is likely to have the predicted effect.






   5 marks

___________________________________________________________________



___________________________________________________________________



___________________________________________________________________

___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________

Question 30
a)
Define the term “current account deficit”



   2 marks



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________

b)
List three reasons why the CAD as a percentage of GDP has risen during the last four time periods shown on the chart.


   3 marks

___________________________________________________________________



___________________________________________________________________



___________________________________________________________________

___________________________________________________________________

___________________________________________________________________


___________________________________________________________________

c) What problems may arise for the Australian economy from a persistent deficit on the current account of the Balance of Payments?



   5 marks

___________________________________________________________________



___________________________________________________________________



___________________________________________________________________

___________________________________________________________________

___________________________________________________________________



___________________________________________________________________



___________________________________________________________________

___________________________________________________________________



___________________________________________________________________



___________________________________________________________________

Question 31
a)
Define the ‘unemployment rate’




   2 marks



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



b)
What factors would cause the labour force in Australia to shrink?      3 marks



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________

d) At the present time, what are the main causes of unemployment in Australia?                                                                                             5 marks



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________



___________________________________________________________________
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